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I Analysis of story in 't mwn — man gave 5 women PW11’p, using their own nvnw figs (valid)
a 3 inferences from mwn (4™ possible, but 27 wasn’t ready to commit to it)
i my2aw mya may be used for pwITp (i.e. may be used beyond n%7ax)
ii Y11 wTpnis invalid - even if he stole from (and is now returning to) her
1 note: both of these inferred from description as 109w n'yaw M a - any other year, it would be invalid
2 note: 3y " also ruled that N9 (before vIX») renders item unavailable for wTpn for owner as well as 151
(a) Owner: itisn’t in his domain
(b) Thief: it isn’t his
3 Challenge: Rn»11 — if he stole from her and gave it back as pwyrp — valid
4 Answer: if there were already 211w between them, valid; else — invalid
5  Stories:
(a) /5 A stole coin from B, threw it to woman for pwvyTp
(i) ruling (837): noone accepts v"™’s ruling that mn o%ya vix» n%n ono >no PVITH
(b) sharecropper: gave a woman a handful of onions as PP
(i) ruling (837): no one granted him the rights to them no pwviTp
1. note: had he taken a bundle, it would’ve been valid, as he and 1”nya will split anyways
(c) vat-worker: gave a woman some dregs; 2"nya came along and asked why he didn’t give her better dregs
(i) ruling (837): we only apply ma> H¥R 153 to nmn (but here, the 2”nya is embarrassed and won't protest)
1. explanation: if A takes nmn for B without his consent and B says “take from better fruit”
a. if: there are better fruit — he has consented and the nmn is valid
b. if: there are no better fruit — nnmyn is invalid
c.  note: if 2”nya adds to the nn1In — certainly consents and is valid
iii a woman may be a mYw for receiving Pw1p for another, even if it makes the second a n1¥ to the mYw
iv  possibly: pWITR NN RY NR2Y 170N RYY PYVITP (21 was unsure if we rule like 827 or »aR)
II  'm mwn: using various sancta for PwITpP (rest of nywn will be presented as each topic is analyzed in the xn))
a  using his portion in wTpnn *v1p - whether (a 03 using) WP *W1P or (anyone using) DY DWTP (DNYY) — invalid
i suggestion: mwn doesn’t accord with 3”11 who holds that 0*9p ©*w7p are liable for 2w as they belong to the owner
1 answer: he only applies this while nwTp are alive — not after no'nw (and 7”n71)
(a) reason: we are given these portions from max jnYv
(i) note: careful read of mwn bears this out —pYna and not DwTp *WTP1 etc.
ii  story with nT» "1 and oMo after death of n”, who said that ¥pona w1pn is invalid
1 dissent: nmin> "1 (o1 7 agrees with n™)
2 Disagreement: based on interpretation of v.2 — 75 (for all your needs) or wxkn 1n (::wR — only for devouring)
3 Final ruling
(@) 1 "1 - follows 'ov 1 (NVTIPN NIR)
(b) 127: dispute continues
(i) 7an support for 3NV *1 from 8190 (from school of "> 1) - in which vv. 3-6 are used to demonstrate
that 02312 may not barter their portions in maw ,mnin or o'nar — even oY DWVTP (NTIN — V. 6)
(if) tangent: WX — only an adult 113 may divide (even if D Y»1); a jvp may not — even if on
(iii) Challenge: Xn»»12 apparently supports 17
1. o297 pn’: after it no longer satiated, the Py wouldn’t take but the ravenous would pp5n
a. response: meaning of npyn — grab
b.  proof: from »av of fellow who grabbed and was called j2nn 12 (as per v. 7 or v. 8)
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